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Au Clair de la Lune
French Trad: Arrangement By D Padgett
From ‘Pocket Book of Nursery Rhymes
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17th century French Trad: Translation; ‘By the light of the moon’

1

C

3



 0



3 

 4

G

0



C

3 



0 
4

G

3 




1

C

3 


0




4

G

3 

 


1

C

3 


0 

3 



 3

1
0
1

3

1
0
3

3

0

0

3

3
0

3

1
0

0

3

3
0
3

3

1
0

3

0

5





1

III

D7

3



2




1

3 



2



 1

II

0 


1 3 






G

2

3



 1

C

2





2

E‹

0





D7

3





G

2

0





0  1  2 

 5

3

4

3

5

3

4

3

0

2
2

4

2
2

3

3

2

1

2

0

0

2

3

0

0 1 2

9





1

C

3



 0



3 

 4

G

0



C

3 



0 
4

G

3 




1

C

3 


0




4

G

3 

 


1

C

3
02





 3

1
0
1

3

1
0
3

3

0

0

3

3
0

3

1
0

0

3

3
0
3

3
2
0
1

http://www.free-scores.com

